Chapter 27: Present (Continuous) Adverbial Participles

3 1 3

mas fem neut
nom sg Adwv! Adovoa Adov?
gen sg AVovToC Avovong® AVovToC
dat sg AVovTL Avouon AVovTL
acc sg AovTta AVovoav Adov
nom pl AbovTeg Abovoat AdovTa
gen pl ALOVTWV ALOLOBV AVovTwV
dat pl Adouat (v)*  Avodoaig  Adouat (v)*
acc pl AbovTag Avovoag AbovTa

! No case ending is used, the tau drops off because it cannot stand at the end of a word (rule 8), and the
omicron lengthens to omega to compensate for the loss (*Av + ovT + - > Avov — Adwv)

? As with the nominative singular masculine, no case ending is used, the tau drops out (rule 8), but in the
neuter the connecting vowel does not lengthen.

* As you will remember, if the letter before the final stem vowel is epsilon, iota, or rho, then the genitive stays
ag. Otherwise, it shifts to ng (cf. chapter *, footnote to the vocabulary word 6dAacoa).

* The vt drops out because of the sigma, and the omicron lengthens to ou in order to compensate for the loss
(ovtou »> ooe —~ ouvat). Be sure not to confuse this form with the third person plural indicative (Adouat,
“they loose”).

Middle/Passive Present (Continuous) Participle

3 1 3
mas fem neut
nom sg Audpevog Audpevn Audpevov
gen sg Avopévou Avopévnc Avopévou
dat sg Avopévw Avopévn Avopévw
acc sg Audpevov Audpevnyv Auduevov
nom pl Auduevot Audpueval Audpeva
gen pl Avopévav Avopévav Avopévav
dat pl Avopévolg Avopévaig Avopévolg
acc pl Avopévoug Avopévag Avopéva



Chapter 27: Present (continuous) Participles

What to Memorize

Morphemes
Masc fem neut
act \%8 ovoa \%8
mid/pas HEVO Hevn HEVO
Active Middle/passive
masc fem neut masc fem neut
nomsg  wWv ovoa ov OMEVOG  OHEVN OHEVOV
gen sg oVTOG ouang oVTOG OMEVOU  OHEVNG  OHEVOU

Basic Translation

*simple -ing form of the English verb:
dmexpiOn Adywyv . . . He answered saying . . .
*Key word “while”:
Aéywv &yo Epxouat . . . While speaking I come.. . .
*If the participle is passive, use “being” and a form that is not the -ing form:

doEalduevog 6 Beog . . . While being glorified, God . . .

Relative Time

Keep in mind that a Greek participle always indicates relative time —relative to the
main verb. The present participle describes an action occurring at the same time as the main
verb.

This means you will need to adjust your translation by using a helping verb, e.g.
“Studying” becomes “was studying”.

*If the main verb is aorist, then the present participle will be translates as the past
continuous, e.g. “was praying”.

AAOe TPooELXSUEVOG He went while he was praying.

*If the main verb is present, then the present participle is translated as the present
continuous, e.g. “is praying.”

EpYETAL TPOOELYOUEVOG He goes while praying.

Which pronoun you use is determined by the word the participle is modifying. Which
helping verb you use is determined by the time of the main verb.
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